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CRIMINAL LAW - | : Indian Penal Code

Aax. Marks : 8Q
Ouration ©  Hours e

nstructions : 1. Answer any five Questions from group (a) each

Q. No. 1.

Q. No. 1.

Q. No. 2.

Q. No. 2.

Q. No. 3.

a)

b)

a)

b)

a)

question carries 10 marks.

2. Answer any five Questions from group (b) each
question carries 06 marks.

3. Answers should be written either in English or Kannada
completely.

Explain various types of punishments to which oftenders < 10
are liable under Indian Penal Cade. Marks . 1€
PAIAWL TR Tabdal BN BRI QeRRNES
ANJ é!&‘“‘*:\’\j\ QIO

Concept of Crime

SAUSN LU

Marks : 6

What is Mens rea ? State its significance in statutory
offences. Marks : 10

BIRRT I 0TI 9 WRIeaD SNUeinia WO I o
TRV 0r,
<@ w

‘D’ gave a poisoned apple to his wite intending do kill her
and wife ignorant of the matter gave it to their child who ate

it and died however, wife did not die. Decide. Marks : 6

W33 Dowsn Oy, T 1wy dad Rnmudon
WIBIYTRNDRS. 4300, ARG 2ot Tond Sk
ToRIodo 433 AR dARRY. Doty WERY dod des
TR, w38 Bows ROJAY, AFFoR,

What is Criminal Conspiracy ? How does it difter from
abetment ?

VTRYE LR 0TI 9 A ms\’gds%\med TR
epaimhd?

Marks : 10
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Q. No. 3. b)

Q. No. 4. a)

Q. No. 4. b)

Q. No. 5. a)

Q. No. 5. b)

Q. No. 6. a)

Q. No. 6. b)

Q. No. 7. a)
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at work with a hatchet, the head flies off and kills a man
ecide the liability of ‘A’. Marks : 6
9538 33030 TOTREN
2. ‘2'I RRBMOTOIR

‘A’is
who is standing by. D
‘D girad@o&)od 3R aimdoécg\b
BETCY, QoBERORT ?ijﬁdod 3000

QI ORD.
Discuss the liability of persons for the acts done in furtherance
Marks : 10

of common intention of all the persons.
DBRETEB ATIMON [RRT T[N 33Ny O AC e ieve )

L3 R0.

Write a note on mistake of fact and mistake of law.
Seyaseh 39 fbE W) PRSI, QD i LD
LW3o0.

Marks : 6

Define Murder. Explain when culpable homicide does not
amount to murder. Marks : 10
BRS TONTY [T oInmn ©T0HT STH,0I0

BRS0IRNOPAE DO
Wrongful restraint and wrongful confinement . Marks : 6

g 38 ) @D WG

“Assault is only an attempt or apprehencing of using Criminal
Marks : 10

force”. Discuss.
BEOD  STORE W HVBSRENE Lot FoT BT

ZQOC{J:QID NG, 23e8FR0.

Distinguish hurt from grievous hurt. Marks : 6
3633 MO MCDOT AL
Explain Cheating. When does it become cheating by

Marks : 10

personation ?
wozsafom;* WR0X. [oWIcdw cinmon BRUTcE Ty

SRR RIS ?
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Q. No. 7. b)

Q. No. 8. a)

Q. No. 8. b)
Q. No. 9. a)

Q. No. 9. b)
Q. No. 10. a)

Q. No. 10. b)
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‘C’ a carrier is entrusted by ‘D’ with a television to be carried by
road. ‘C’ dishonestly misappropriates the television. What
offence that ‘C’ has committed ? Marks : 6
ok 308> oTsIR ‘@odd I, 2360030, A9 TONBOLO
:b&moo?ma’ 4T ‘R030 &@osoao T, as.méaau
TORFIC3RENTITS, ''0ID o3RS QﬂwODd Snawd ?
“In all robbery there is either theft or extortion”. Explain. Marks : 10
"RoR O STOIGNRYS), IR AV wmd@ Ted ATE
JTZT . DTOR.
‘Write a note on Rape. Marks : 6
wo:om&d Rordeend Wi e3BE3 20B0200.
Discuss the offences relating to marriage. Marks : 10 -
DITLE ROLOGTH, ITOIGNTR), BWFAO.
Mischief. Marks : 6
3RO
Write the essentials of defamation and state exceptions. Marks : 10
SNSTIOL WEZT 30BNTIIR) 7 TOTNIRY, EVAD.

Marks : 6

Criminal Trespass.
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